Remember to regroup if
there are not enough ones.

A. Find the difference.,

EXERCISE 3.1
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B. Regroup the ones to subtract. Do | > Co
2 15 7 ) 6.9 book, ;,f\{ P‘d
b g . 8 ¥ 7o | 5z
- .4 . -~ I - 252
1 7 T2 6 4 2 3
VT 4 N 7 ! g 13
2 S 8 x B X 9 3
- 1§ - 29 - 3 8 - 28
O 8 2 R 4 3 £ 9
g\ é 5 1 3 ﬁ
g X o 2 4 X 5 3
- 4 7 - 39 - 3 & - 2 3
4 4 2 3 0.4 3 0
5 GET IT RIGHT! ™
4 13
/5 /3/ ex\ There are enough ones to 5 3 /
_ 2 3 subtract from so don’t regroup. _ 2 3
2 10 30
_ B J
» HOTS questions ——
Subtract across and down to find the magic number.
) ) O
716 |1 81513 91217
A 1 O3 |2 Ol 714 4
21210 E13 |2 o

&btract me from 8. You still have 8. Which numb?r am[? 8+8 = lé)
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